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Q1= AL 271,000 261,000 10,000
401 AlEHI 2 2HY 271,000 261,000 10,000
01 Al&HI 270,000 260,000 10,000
O ¢#32 RO 2 HX &X2A
10,000,000 = 1Al 10,000 0 10,000
BHAHSAAHH|(HADH) 194,261 191,724 2,537
A2 H 54,041 51,504 2,537
A2 HH| 54,041 51,504 2,537
101 @124 H] 54,041 51,504 2,537
01 2% 54,041 51,504 2,537
O Aztelaesg 54,041,0002 54,041 51,504 2,537




A
S 8 A A

Al

ofJ
_..__A._

[
ol

- 05 O
30 RO @r
o 0 oJ
(i & oF
N RO OJ

SEIE
o JHIRIHIE
0 INE RN RN n_.m m w
= h
I

SEE
e 2|8 ARk
al 3|2 M = 5 : W
. 5|5(% %
: <t

=

SEHE

alela S
_|8|18|® {HEE
o 88|88 =
; 318 3
=
or
X0 :
Bl :
. <
] g
; =)
”=|_l Lo
=3
- R0
: K
5 n
: o
; 00
u. <+
wl o _u_.
%0 & 3
: Ho ] 5
X = |z | 5 :
: HE = ®[<F

]
. it omm I ‘uu ©
i o0 | A Ll
| R0 | o) o
s 60




= A
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=9 501,271 398,271 103,000
ZOINEH2Y(EYE) 314,119 221,119 93,000
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401 AlZHIL 20| 93,600 52,600 41,000
01 Al&dH] 93,600 52,600 41,000
O ZHSIHZ A 25 (10SET)
22,000,0008 * 1Al 22,000 0 22,000
O =22 WAH(Uaoa @ 6IHA)
19,000,000 * 14l 19,000 0 19,000
DIAME X (F=RIMS T KE) 61,775 9,775 52,000
OIS 2 61,775 9,775 52,000
101 @124 H 8,301 2,775 5,526
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E©el: FUMESY(5RE) (SH2l &)
A= 24 - Y- GR(ZH) - NRAY - BES Off &t2R INEA Husz
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O axe 2,000 4,730 2,730
- 22 2 ZSMTH FHIYHRIIER)
2,000,000 2,000 4,730 2,730
206 TH =2 H| 12,130 9,400 2,730
01 MEHl 12,130 9,400 2,730
O JtZstet - 22 A S =4 12,130 9,400 2,730
- 22 FY(RIIXE) 5,730,000 5,730 3,000 2,730
HH2AZH(LES) 196,319 184,819 11,500
JlEZl 144,815 133,315 11,500
Jl=dl 144,815 133,315 11,500
405 XH&HE SH 12,500 1,000 11,500
01 AL SEFSH 12,500 1,000 11,500
O AIRA JHHIN P (BHSTH)
11,300,0002 * 14! 11,300 0 11,300
O AtRal A 7 200,000& * 17 200 0 200




AbE 8 Al A

Al

ofJ
i’
oF
ol

w0
M_.._

— il
1Ho =0
10 oJ
< KE

b=
[EET
=20

J0 ol ol
o Kk K-

(i & oF
A RO O

-

KIo

Hlw

5,838

I3

555,918

=<
o

</

561,756
253,082

£
ol

* HI2AHY -

. (] A)

« X ZH

g
I+
nr

<

o
Wo

<J

900
900
900
900
900
900
900
4,938
2,928
2,928
2,928
2,928
2,928
2,010
2,010
2,010
2,010
2,010

13,400
13,400
1,000
1,000
400
59,427
59,427
59,427
59,427
59,427
174,309
174,309
1,355
1,355

252,182
233,736

14,300
14,300
1,900
1,900
1,300
900
238,674
62,355
62,355
62,355
62,355
62,355
3,365
3,365
2,010

176,319
176,319

2l o« 1Y

=

62,355,000&

450,000& » 2&

2,010,000

01 AFR 22|l
01 2=
405 Aot SHI




Al & Ol & At 8 Hl A

s47 sEs SN HEBS
FOMEIRY(HES)
FOIMBIA(FOMETHE) (S5l HR)
= - 2M - 3 - SA(3H) - HRAS - BES Oi &t JIEH HuwsZ
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DIME IR (FOMERIRE) 28,840 17,240 11,600
FOIMER 28,840 17,240 11,600
201 Lt bl 2,900 2,300 600
01 At 2teltl 2,900 2,300 600
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6,002 * 1008t A 600 0 600
206 M= Hl 21,500 10,500 11,000
01 =8l 21,500 10,500 11,000
O ZZx=4 M= 5,000, 000& 5,000 4,000 1,000
O ZotA DA L A 200,009 * 508 A 10,000 0 10,000
TN (HES) 115,000 95,000 20,000
TSNS (FRMETAE) 115,000 95,000 20,000
FUSBAL 115,000 95,000 20,000
401 Al&HIL 2T 115,000 95,000 20,000
01 Al bl 115,000 95,000 20,000
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oIt 2 oy 66,512 51,504 15,008
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01 2% 66,512 51,504 15,008
O A2 66,512,000& 66,512 51,504 15,008
JI234| 143,862 141,012 2,850
Jl=A| 143,862 141,012 2,850
201 UBr2 Y| 81,712 81,112 600
02 S22l 38,232 37,632 600
O AlEZEHI=XId| 4,700 4,100 600
- HARTES 3,600, 0002 3,600 3,000 600
202 01t 48,250 46,000 2,250
02 X0 47,250 45,000 2,250
O Aoyl 47,250,00024 47,250 45,000 2,250
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0
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40,000

20,000

60,000

40,000
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60,000
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40,000
40,000

20,000
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280,834

257,734

23,100

213,483

190,383

23,100

213,483

190,383

23,100

119,883

114,883

5,000

7,400,000&

56,023
14,300
7,400

51,023
9,300
2,400

5,000
5,000
5,000

21,700

3,600

18,100

2,500,000 « 1CH
1,600,000& * 14l

14,000,000& * 14!

21,700
2,500
1,600

14,000

3,600
0
0

18,100
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